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The function f is defined on the 

closed interval [0,6].The graph 

of the derivative f’ is shown 

above. 
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Shown above is the slpoe field for 

which of the following differential 

equation ？ 

(A) dy/dx=1+x 

(B) dy/dx=x-y 

(C)dy/dx=(x+y)/2 

(D) dy/dx=y-x 

(E) dy/dx=y+1 
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(A)0 (B)2 (C)4 (D)8 (E) nonexistent 
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(A)-5.464 (B)-1.500 (C)0 (D)1.464 (E)1.500 
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(A)-1 (B)0 (C)1 (D)e (E) It is nonexistent 

42. At which point in the graph f(x)=x4-2x3-2x2-7 decreasing and concave 

down？ 

(A)(1,-10) (B)(2,-15) (C)(3,2) (D)(-1,-6) (E)(-2,17) 

 

 

 

 
 

 

 

 

 



APCalculusTest02 
 

 12 / 15 

 

ANS p.631  
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